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10 0.617 157 | 2.35 3.14 392 | 471
12 0.888 2.26 | 3.39 4.52 5.65 | 6.78
14 1.208 3.08 | 4.62 6.15 7.69 | 9.23
16 1.578 4.02 | 6.03 8.04 | 10.05 | 12.06
20 2.466 6.28 | 942 | 12.56 | 15.70 | 18.84




(ahai 16):aWl &lwoll

o0 padiae Seb (Gb 5l 5,85 5 8, (subgll (s,kIU 8l s hy,)
cau> « P7 absill ale (oJ] P1 @nsill oo BMbl dus,c gblés ac juc

s sJWI Jgazdl (s @igo £.9,inodl g (Olawodl) dusudall @,il danlsl ollasoll

(Mm)ay;=| (M)aseudbll (m)&s)moJl
124.00 125.00

25

125.00

30

126.00

25

126.50

20

125.50

30

124.50

30

123.00

PlL —— P3:p=2% (laxl)
P3 — P5:p=0%
PS5 — P7:p=3% (ausc)

:Uolboll | Losll
hall s,V auaill ;S5 .1
bl aigSoll (a9ili)adasil o aolell ,olell ,S5i .2
£9,ioll blai cuwlbio Ll Jgazdl Mo pwil .3
Sebodl sl loude (gaiodl OlglVI g @0 M Jilwgl Jlosiwl .4
iowbidoly 05 Lo aad,ll dsdgll (sle sl (sJghll .5

1/100

120m a5, laoll Sqiuuo il

1/1000

5/3




(bla;8 ) :asl Jl &luwoll

d caans Cu> Ao w8l Al 9 aud L8 &L lawdl sas| Y
Do C.B. A hail cu> ABCD (sel, glaoe JSoior (sle duso a>Luw
: saso pleo (sl @il olslasVl dsgles
bladl [ X(m)] Y(m)
60 | 200
240 | 200
200 | 60
20 | 60

roellholl
Aoslall ol ass )b Jbbeiiwl glaos]l 1is a>luw wl 1

GAD ¢ GAC:GAB UL JS u.uol 2
AD.AC AB JlghbVl ol .3

il aas,b Jlasiwl glaoll 11 asluw wowsl




DRIl Lkl elad

-
.
.S

|

05 4ad

1/100

I_. 1/1000

—120.00 m 4 )8all g giua

dun gl pUadl ol )

dpdal) 4y 5l ol Jal8s (o gania

& 5_pdiall Tl s 4 3 AiLsal

(Aranall)das) ial) Claloall

IR

Glisiall g cldial pill

5/5




Buddl hgan  clas )l e i/
diaall durigh p 3 by, B dad
dad by AR 3 ; adl)

5 ool

(Z\Jag.s 24) :L;J‘y‘ At
D JldYl 290y Gl ]
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M(x)= -20x? - 40x
M(0)=0 M(1)= -60

T(x)= -40x -40
T(0)=-40 T(1)=-80

M(x)=-20x> + 100x -140
M(1)=-60  M(2)=-20
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T(1)=60  T(2)=20

M(x)= -10x + 60x -100
M(2)=-20  M(5)=-50
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e g @
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P3=P2-2%x2 +124.5-0.02x30=123.9m (1 pt)
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S=L3X0(Va—Yom)] =

%[X;(YD_YB)+XB(K4—YC)+XC(YB—YD)+XD(YC—YA)]

= % [60(60 — 200) + 240(200— 60) + 200(200 — 60) + 20(60 — 200)] =% [50400]=25200m?
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